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THXSy « TfE - FER Bz ¥ = & i a1l % 7
B K& Y 1 14, 611, 387
AfigE T = 1 14, 071, 055
BIEIA-n" -V T = 1 14, 071, 055 | HJHIA-n" =14 3,920 m2
wIH
ORI AT 7V MES ) CHr20FH) S B A =50
mm ;
ORI (B B 1 2V
wIH
TAT7 V% (BIHD)
BTy 196 m3
TAT7 VAR
X T = 280, 532
X 5 T = 280, 532 | A" AV X 1,120 m
wIH
N A7 KRR SEMR 15em INEL
A AV PR E R 280 m
wIH
A AV KRR BRHRRE 15em NZEL
FGan Y 1 259, 800
AR T 1 259, 800 | A2 MR L B 5 AH
wIH
Ay
A S L 5 AH
wIH
B,
RS 2V 1 14,611, 387
st = 1 3, 379, 800
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B SIS = 405, 800
R v 142, 000 | S S il 1 7
FeAfriE By v 58,800 | i Bk FAT I VER 1 X
BUGRESGER (R5th) v 205, 000
ol # (RE L) v 2, 974, 000
Wi TR = 17,991, 187
B Bt v 7, 838, 000
TRl = 94, 078, 466
—fRE R % v 14, 441, 534
T fifik& = 108, 520, 000
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THXSy « TfE - FER Bz ¥ = & i a1l % 7
B K& Y 1 7,506, 732
AfigE T = 1 7,106, 666
BIEIA-n" -V T = 1 7,106, 666 | BIHEIA-N" -V ( 1, 960 m2
wIH
ORI AT 7V MES ) CHr20FH) S B A =50
mm ;
ORI (B B 1 2V
wIH
TA770 Nk (BIHD
BTy 98 m3
TAT7 VAR
X T = 140, 266
X 5 T = 140, 266 |~ Ay M2 K 560 m
wIH
N A7 KRR SEMR 15em INEL
A AV PR E R 140 m
wIH
A AV KRR BRHRRE 15em NZEL
FGan Y 1 259, 800
AR T = 1 259, 800 | A2 MR L B 5 AH
wIH
Ay
A S L 5 AH
wIH
B,
RS 2V 1 7, 506, 732
st = 1 2,019, 000
— 3 —

i@ Aokt 5w m



U B I ] 77 17 FH T it Se 4k 6.4 X

L N R e
TH4 | R6 « 7R - MIRHERE PSS e L
THXSy - TH - fly HOfr ¥ & & fH # bl N g
B SIS = 262, 000
R v 142, 000 | S S il 1 X
BGRESGER (REth) v 120, 000
ol # (RE L) v 1, 757, 000
Wi TR = 9, 525, 732
B Bt v 4, 630, 000
TRl = 14, 155, 732
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THEAL | R6 - 7R - KR E NG ERE T HE
THXSy « TfE - FER Bz ¥ = & i a1l % 7
B K& Y 1 12, 553, 204
AAE T = 1 12, 056, 860
BIEIA-n" -V T = 1 12, 056, 860 | HJHIA—n" 14 3,290 m2
wIH
ORI AT 7V MES ) CHr20FH) S B A =50
mm ;
ORI (B B 1 2V
wIH
TAT7 V% (CBIED
BTy 165 m3
TAT7 VAR
X T = 236, 544
X 5 T = 236, 544 |~ AV RX R 940 m
wIH
N A7 KRR SEMR 15em INEL
Ay X R 240 m
wIH
A AV KRR BRHRRE 15em NZEL
FGan Y 1 259, 800
AR T = 1 259, 800 | A2 MR L B 5 AH
wIH
Ay
A S L 5 AH
wIH
B,
RS 2V 1 12, 553, 204
st = 1 3, 184, 000
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B SIS = 543, 000
R v 142, 000 | S S il 1 X
BGRESGER (REth) v 1 401, 000
ol # (RE L) v 1 2, 641, 000
Wi TR v 1 15, 737, 204
B Bt X 1 7,019, 000
TRl v 1 22, 756, 204
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THXSy « TfE - FER Bz ¥ = & i a1l % 7
B K& Y 1 10, 957, 093
AAE T = 1 10, 622, 374
BIEIA-n" -V T = 1 10, 622, 374 | YJHIA-1" =14 3, 200 m2
O©FRIEET AT 7V MES ) CHr20FH) S b A =50
mm ;
ORI (B B 1 2V
TA77V Nk (GIE)
BTy 133 m3
TAT7 VAR
X R T = 1 161, 519
X B T = 1 161,519 |~ AV bRCX E 760 m
A A KR SERR 15em N ;
Ay X R 190 m
A Ay ba KPERL TR 15em NN ;
FGan Y 1 173, 200
AT Y 1 173,200 | A& E5EEfE 5 5 AH
Ay
A R L 5 AH
B,
[EREES 2V 1 10, 957, 093
Bt = 1 2, 696, 600
o Y 1 327, 600
TR 2V 1 164, 600 | A E A il 2 1 2V
BIGRIEUER (FE L) Y 1 163, 000
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ol # (RE L) v 2, 369, 000
Wi TR = 13, 653, 693
B Bt v 6, 238, 000
TRl = 19, 891, 693
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THRX Sy « Lff - fi5 Bz ¥ = & i a1l N 7
B K& Y 1 2,497, 310
AfigE T = 1 2,176, 440
BIEIA-n" -4 T Y 1 2,176, 440 | BIHIA-N" -1 600 m2
wIH
ORI AT 7V MES ) CHr20FH) S B A =50
mm ;
ORI (B B 1 2V
wIH
TA77V Nk (GIE)
BTy 30 m3
TAT7 VAR
X T = 61, 070
X T = 61,070 |~ A b3 i 200 m
wIH
N A7 KRR SEMR 15em INEL
A AV PR E R 100 m
wIH
A AV KRR BRHRRE 15em NZEL
FGan Y 1 259, 800
AR T = 1 259, 800 | A2 MR L B 5 AH
wIH
Ay
A S L 5 AH
wIH
B,
RS 2V 1 2,497, 310
st = 1 805, 000
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B SIS = 192, 000
R v 142, 000 | S S il 1 X
BGRESGER (REth) v 50, 000
ol # (RE L) v 613, 000
Wi TR = 3,302, 310
B E R v 1 1, 694, 000
TRl v 1 4,996, 310
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THXSy « TfE - FER Bz ¥ = & Hm a1l N 7
B K& = 1,676, 170
AAE T = 1,676, 170
RABERAHE T = 1,645,150 | INEVE M wHE 5 t
OMRIET 27 70~ (5F)  1tAH ;
INENE M ifiE 5 t
ORI ET 27 74~ (5F)  1tPL F2tH ;
INENE M ifiE 5 t
ORI ET 27 74~ (5F)  2tPL BBt ;
INENE A fifiE 5 t
ORI ET 27 74~ (5F)  5tLL F20tK ;
YRR 2 7 v 7 flifs T 2V 31,020 |7 Z v 7 fifis 100 m
RS Y 1,676, 170
st = 450, 000
o = 37, 000
Bl RIEUER (FE L) Y 37, 000
mEER®E (EE L) Y 413, 000
il T = 2,126, 170
Bl H e Y 1, 093, 000
T =5 = 3,219, 170
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THEAL | R6 - 7R - KR E NG ERE T HE
THEXS - T - FER - va ¥ = & Hm a1l N 3
B K& = 1,682, 170
AAE T = 1,682, 170
RABERAHE T = 1,651,150 | INEVE M S 5 t
OHRIET 27 70 b (BF)  1tRiW ;
INENE M ifiE 5 t
@RI ET A7 7L~ (BF)  1tLL B2t
INENE A fifiE 5 t
@RI ET A7 7V~ (BF)  2tLL B5tAH
INENE A fifiE 5 t
@RI ET A7 7V~ (BF)  5tLL F20tK7
YRR 2 7 v 7 flifs T = 31,020 |7 T v 7 HiEL 100 m
RS Y 1, 682,170
Bt = 451, 000
o = 37, 000
Bl RIEWER (FE L) Y 37, 000
Il (it L) Y 414, 000
il T = 2,133, 170
Bl H e Y 1, 097, 000
T =5 = 3,230, 170
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